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13.1 Right Triangle Trigonometry
is 13.611

Find the following 6 trigonometric values for the following triangle.
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13.2 Angles and Angle Measures

1. Match each degree measure with the corresponding radian measure on the right.
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(a.) Draw the angle with the given measure in standard position, (b) find 6’ as the reference angle and (c) find one
positive and one negative conterminal angle with the given angles.
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13-3 Trigonometric Functions of General Angles
Show all work on separate paper.

Find the exact values of the six irigonometric functions of # if the terminal side of
¢ in standard position contains the given point.
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Find the reference angle for the angle with the given measure.
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Find the exact value of each trigonometric function.
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Find the c-mct value of each trigonometric function,
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Suppose fis an angle in standard position whose terminal side is in the given
gquadrant, For rach function, find the exact values of the remaining five
trigonometrie functions of #,
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